420

h=

- =m hanHa TayH

h= 420

h= 420
SN IXXRKXRKXIRKIRIKIREXRIXK L]
~//~, PSR ST 'rI/L:L;'jjf
= T T ]
g 3 000
IS :
4 1
CnanbHsa
12,9 g C 1
[ N 2
h= 420 < ot |
] [ N fomia §0.9) |
£ s o L,w_w ) =Rl
1800 1620 = f% j— 1350 :
E. ° CanByson § A ] 5‘/ H 2 X L
S 7 - 87,9 m?
- | . | - Y .
— B D LR IARNTARAN i :
g‘ @ ! - Homep HaimeHyBaHHs fnowa
1 B 00| - @%99‘ - H lo NPUMILLLEEHHSA y M2
= OOk ° q " @§ = 1410 |
8 2 \Eef%,m_ﬁ 00 1.1 Kopugop 3,3
n 8 ' " 1.2 Kopuaop 6.6
h= 420 S NIV : 13 K 24
KRR JXXXRXXXXXXXXKXKXXXX XXEXXXX 2230 600 "ﬁ INIANANE 7 = v : opwaop ,
s S — VR 8 cenmmrre | A : 4 B [ 2 KyxHsi-BiTaribHs 29,5
'_]- ﬂw m: x ¥ - 3.1 CaHBy30n 4,2
i 2570 4 3.2 CaHnBy3son 4.1
3 Kopugop o | 4.1 CnanbHs 14,0
_ ' 4 @_Q 4.2 CnanbHs 12,9

—— _

% A . /\\ = e | i 5.1 Fappepob 2,1
3 i N T 2 (—3;K X”‘;‘;'T;”b”“) 2 5.2 apaepob 4,0
§h CaHByson |/ - 1 g ' H 0 .

S 42 (= T 4 ° G 5.3 INopxxis (HesackneHa k=0,5) 4,8
1lE Cogpes ) == == 3aranbHa nnowa 87,9 m?
i :ﬂ < + 3 R 6700 ’KuTnosa nnoula 26,9
I A — NN 1440 ‘* 1@; e

e . S— = A g A

§ ‘ //H //ll ll ////////\H‘ ////\\//////II”II”I//// -
. vres 7 1Y




